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SUBJECT: Maths STD- 4th
Prepared By: Rajni Yadav Lno-5 (Perimeter and area)

Pre activity- Do the lets get started page no 132 in textbook.

Exercise 5A
1. Find the perimeter of the following shapes.
a b. c.
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Solutiom:
a. Perimeter of square ABCD = 2 cm + 2 cm + 2 cm
+ 2 cm o= 8 cm
b Perimeter of rectangle EFGH = 6 cm + 2 cm +
6 om 4 2 om = 16 om

c. Perimeter of pentagon ABCIDE = 3 cm + 3 cm +

deom 4+ S5Scm 4 om= 19 cm

d. Perimeter of hexagon ABCDEF = 3 cm + 3 cm +
Scm+ Focm+3cm 4+ 5 cm = 22 cm

e Perimeter of triangle OPO = 3 cm + 4 cm 4+ 5 cm
= 12 ¢cim

i Perimeter of ABCDEF = S cm + 2 cm + 10 cm -+
Scm + 10 cm 4+ 2 cm = 34 cm

Exercise 5B
1. Find the perimeter of the squares with the given sides.
a 4cm b. & cm c. 14 cm d. 18 cm
Solution:
o Perimeter of square = 4 = side = 4 = 4 = 16 cm
b. Perimeter of square = 4 = side = 4 = 6= 24 cm
c. Perimeter of square = 4 = side = 4 = 14 = 56 cm
d. Perimeter of square = 4 = side = 4 = 18 = 72 cm
2. Find the perimeter of the rectangles with the givemn
lengths and breadths.
= Length = 5 cm, breadith = 2 cm
b. Length =7 cm. breadth = 3 cm
o Length = 9 cm, breadth = 5 cm
d. Length = 12 cm, breadth = 7 cm
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13 = 7 =91 cm”
19 = 8= 152 cm”*
e Area of rectangle = { w b 20 = 10 = 200 crm ™
i Area of rectangle = fw b = 24 w 6 = 144 cm™

c. Area of rectangle = { « b

d. Area r_'-l'r:rl:zl_nElr == b

2. Find the area of the squares with the given sides.

@ 5 em b. & cm e 15 em
d. 24 em e, 32 cm
Solution:
@ Area of square = £ s =5 x 5 = 25 cm’
b, Area of sgquare = 5 5= 8 » § = 64 cm?
.  Area of sgquare = s x 5= 15 = 15 = 2X5 cm*
d. Area of sgquare = s = 5 = 24 = 24 = 576 cm®
e, Area of square = £ x 5= 32 = 532 = 1024 cm”®
Solutiorm:
ER Perimeter of rectamgle
=2 =+ b)) =2 (5 4+ 2)=2x7F =14 cm
[ = Perimeter of rectangle = 2 = (I + &) = 2 2 (F + 3]
= 2 = 10 = 20 cam
Ll Perimeter of rectangle = 2 = (I + &) = 2 3 (9 + 5)

= 2 = 14 = 28 crm
ol Perimeter of rectangle = 2 0 (f + &) = 2 = (12 4+ 7}
= 23 19 = 38 cm

. Find the perimeter of the triangles with the given

siales.
EW 5 crre,. 4 crm. 3 can = 8 cm. 9 crm, 12 om
L= 11 cm each o 15 cm each
Solutioa:
ER Perimeter of triangle = S + 4 + 3 = 12 cm
b Perimeter of triangle = 8 + 9 + 12 = 29 cm
[ Perimeter of triangle = 11 + 11 + 11 = 33 om
. Perimeter of triangle = 15 4+ 15 + 15 = 45 cm
4. Find the side of the squares with the follosvings
Prerinmebers.
a. 12 cem b 20 cam L= 28 cm 4. 52 em
Solutioe:
. 1=
a. Side of sqquarnes = M = — = 3 cim
=3 e
| = Side ﬂl—gquarc- = m = E = 5 CEm
<+ 4
o 28
= Sicle of scquiare = FPerimmeter I8 _ = o
4 -
o Sidde of sguare = Fhearboceeper = = = 13 cmm
4 -

= Fimd the Lempth of the rectangles swwith the follosscimmgs
Perimmeters amnd bhreadibes.

= Perimeter = 14 o, breadith = 2 com
Ex_ Ferirmmeaeter = 200 o, breadith = 4 cam
Solueticsrn:
= Lemprh of rectangle = Pﬂrlmr:: — =&
1 — ) 22 —

L ) _ra—a 10 _ o _

= = =
Ex_ Lempgith of rectangle = Pr_‘rl.m-i_-zt — i

o 20—(2:—:4} . Z2O—s 12 -
=> = =

Exerncise S4
. Fimd the arem of The rectiangles wiltlh the givemn lemg s
sl boreosadnkes.

= Length = 5 cm., breadith = 3 cam

Ex_ Lemgth = & cm, breadith = 5 crm

Ll Lemngth = 135 om, breadth = 7 cm

cfl_ Lemgth = 19 o, breadthh = 8 cm

e Lemngth = 200 o, breadtb: = 10 oo

L Lemngth = 24 o, breadth = & cm
Solueticosrm:

- Aurca of rectangle = P B = 5 = 3 = 15 cor®
Ex_ Avrens of rectangle = 0 b = 8 =2 5 = 40 oot
Ll Aorea of rectangle = fx b= 135 2 F = 91 cm™
5 I MAarca of rectangle = = F = 19 = & = 152 crma™
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e. Areaof rectangle = { % b = 20 10 = 200 cm®
{. Areaolrectangle={xb=24x6= 144 cm*

2. Find the area of the squares with the given sides.

a Sem b. &cm e 15em
d. 2Mem e, 32em
Solution:

a. Areaofsquare=sxs=5x5=25cm’
Area of square = s x s = 8 % § = 64 cm?
Area of square = s X s = 15 % 15 = 225 em®
Area of square = s x s = 24 » 24 = 576 cm”
Area of square = s % s = 32 x 32 = 1024 cm®

PR

3. Find the area of the following igures.

s

LENra= ’g:} I E]l{-mﬂﬂ*-:‘}
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I _'":;.."ﬂ:._ - KK“H-._
=] L\ % - e | (]
Su]u‘l‘_"lun.'._

a Mumber of completely filled squares = 2
MNumber of more than half-filled squares = 4
Thus, area of the figure = 2 + 4 = & am®

b. Number of completely filled squares = 11
(considering more than half-filled SUAres as
completely filled squares)

Thus, area of the figure = 11 am’

. Mumber of completely filled squares = 17
([considering more than half-filled squares as
completely filled squares)

MNumber of half-filled squares = & (Consider only
half of this)

Thus, area of the figure = 17 + (6 +2) = 17+ 3

= 20

d. MNumber of completely filled squares = 6
[considering more than half-filled squares as
completely filled squares)

MNumber of half-filled squares = 1 (Consider only
half of this)

Thus, area of the figure = 6 + (1 + 2) =6 + 0.5

= 6.5 cm®

Post activity- Write the key concepts of page no 140.
1) Find out the Perimeter and area of your Study Table.

TEACHER HOD COORDINATOR
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